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QL. fAFafafad # ¥ Fiawr e THS HT yIaTdT 61 ol

A O B. S

c. GH® D, WERTRT

Q2. GFafaf@a & § oi9 a1 oeg "U" &7 faali# &l
A ¥ 5 3
. F% p, &

Q3. fET 37w HgraX &1 Fal 37 JdASA| “Tof TqAT"
. GHA ST B. T Sl

c. b ST D, Fol § TH =T

Q4. f&u v grery # & YWifehd bl ITT 2heg; T Tl Tehade g1

"#H A R ferw 1 garii|
A, O g, ©T
c. 3w Hr p, Iga ©I

Q5. qfey ereg &1 Sgaaa &1 Tel 9I DI

A, Xfcm p. NI
C. e D. it
Q6. Choose the correct synonym for the word given below:
Startle
A. Upset B. Surprise
C. Sad D. Mad
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Q7. Choose the correct antonym for the word given below:

Hostile
A. Helpful B. Combative
C. Lazy D. Nasty

Q8. Choose the correct meaning for:
A piece of cake

A. An easy job B. Very difficult job
C. A task of medium difficulty D. A difficult task

Q9. Find the grammatically correct sentence from the following options.

A. Tara took Aman and I for shopping B. Tara took Aman and I at shopping

C. Tara took Aman and me for shopping D. Tara took Aman and me at shopping

Q10. Complete the sentence using correct option for each blank that best fits the meaning of the
sentence as a whole.

I don't have a car, because | cannot the price.
A. afford B. buy
C. purchase D. love

Q11. Who among the following was the first Indian member of The House of Commons of the
United Kingdom?

A. Dadabhai Naoroji B. Keith Vaz

C. Mancherjee Bhownaggree D. Shapurji Saklatvala

QL1. sprsee fomren % €rsw i1 Hiuwd % Yeel WA wawr Frferfad § & %7 47

A. SIETHTS RIS B. hrer arer
C. HeTSir s{ammafy D. AH Heheldarel
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Q12. Which of the following is NOT TRUE about the Pink ball test?

A. The inner core of the ball is made of cork and B. It weighs 100g
leather

C. The ball is made from imported leather D. It's a day and night test match
Q12. ik siter ¢ee % weiyr # Ffetfiad # & 1 @1 e 37w 37

A. 3¢ &7 3TaRe® HR i IR TAS F TAT BT & B. 3T goiel 100 IITH BIT &

C. 3¢ 3mafad TH@e @ o8 a1 Sl § D. g RAINRITaF AT

Q13. Which of the following is a tributary of River Brahmaputra?

A. Ghaghara B. Gomti

C. Yamuna D. Manas
Q13. fomiferfiaa # & srargy 1 wew T w4 €@ 27

A. ETERT B. IMAAY

C.EI?EI,?IT D. ATH

Q14. The District level Panchayat is also known as

A. Gaon panchayat B. Anchalik panchayat
C. Zilla Parishad D. Gram Sabha

Q14. e T Y = 1 % 0 3 off ST S 2

A. ITH T B. ifafoe darad

C. forerm aRweg D. ITH FT

Q15. The form of government where the supreme power or rule is in the hand of one individual

or entity is:
A. Democracy B. Autocracy
C. Aristocracy D. Plutocracy
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QL5. wrhr 1 98 ®u e wal=d a9 T Tk Ak A EET H A H AT, I FHEd B |
A. diEas B. T=TRITEY

C. Felteld/IreTcdeo D. ufadesh deF

Q16. Thecityof __ inHaryana is known as ‘city of weavers'.

A. Ambala B. Sirsa

C. Gurugram D. Panipat

Q16. sfemom® vt 'sEeRdl & el % w0 H ST S )

A. 37dTe B. fawar

C. zaH D. 9reigd

Q17. Who was the first Governor of Haryana ?

A. Shri Ganpatrao Devji Tapase B. Shri B N Chakraborty
C. Shri Dharma Vira D. Shri Hari Anand Barari

Q17. zfemom % weer Tsaue B 9?2
A. #Y IOTIRTIE gl arad B. 8 & U Tehadt
C. & &7 for D. #Y &R 31meig SR

Q18. On January 2, 2019 how many projects were approved to revive the mythical Saraswati
River?

A. 10 B. 12
C. 11 D. 13

Q18. 2 sty 2019 =t drarores Tt et Bl siife e % forg et wieisrei sh Hl & T of?

A. 10 B. 12
C. 11 D. 13
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Q19. On 12" February 2019, Prime Minister Narendra Modi visited which place in Haryana to

lay foundation stone for 5 projects?

A. Faridabad B. Kurukshetra

C. Gurugram D. Ambala
Q19. 12 watt 2019 =t o i A&t ¥ 5 ufEisHTe i STaRier ta % fo gfemr § feg e @ dny fen?
A. WIgrETe B. FeaTT

C. Iz D. 3iarelr

Q20. As of Febraury 2020, who is the chief secretary of Haryana?

A. Smt. Keshni Anand Arora, IAS B. Sh. DS Dheshi, IAS
C. Sh. PK Gupta, IAS D. Sh. Prem Prashant, IAS

Q20. et 2020 it ferfe #, afmon % qer afv i 87
A. Aech F2rel 3ee 3T, IAS B. 5 Sivw &4, IAS

C. 4 dIsh 7recr, IAS D. &Y 9eT 9and, IAS

Q21. As of February 2020, who is the chief minister of Haryana?

A. Bhupinder Singh Hooda B. Bansi Lal
C. Om Prakash Chautala D. Manohar Lal Khattar

Q21. et 2020 v feerfe #, afeamon et i 7
A. sfdieR g gsst B. &€l el
C. 311 gahrer dterer D. AAGI dTel WX

Q22. Which city is considered the cleanest in Haryana as per the Swachh Survekshan-2019

findings?
A. Sonipat B. Karnal
C. Hisar D. Rohtak
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Q22. e e -2019 % SFTA TR0 T FI GT IET Herdl T HAT ST 82

A. BT B. &heTel

C. fgar D. Ugdsh

Q23. The knows Haryana as the land of plentiful grains and immense riches.
A. Ramayana B. Kamayani

C. Arthashastra D. Mahabharata

Q23.  STEATOT BT ST AT F SIS S TR o Y fiT 3 & F ST S 2
A. AT B. AT

C. ydemem D. HAgTHARA

Q24. What was the name of the town in the Kurukshetra district, where Krishna delivered the
Bhagavadgita to Arjuna?

A. Bawal B. Ladwa

C. Thanesar D. Jyotisar
Q24. e et 3 <9 Tl 31 AW FT T, F& FOT 3 IS H AL F1 I AT o1?
A. S1del B. orsar

C. 9= D. SAaaT

Q25. Which city is known as the Heart of Haryana?

A. Palwal B. Kosli
C. Jind D. Faridabad

Q25. fra wex 1 2TV F 2 F ® H ST STAT 87

A. geradt B. el
C. Sfig D. ®lgEg
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Q26. Which dam is situated in the Panchkula district of Haryana?

A. Kaushalya Dam B. Anagpur Dam
C. Mirzapur Check Dam D. Perch check Dam

Q26. wfamm & et foret # i @ wiier o 27

A. ierear aier B. 37TeTqX STEr

C. AR ¥ aer D. w ¥ ity

Q27. The Haryana Vidhan Sabha comprises of members of Legislative assembly,
directly elected from single seat constituencies.

A. 80 B. 90

C. 70 D. 60

Q27. zfemom fyem-ga & ferem-wur wew B €, S E Tkl et S & T S 2

A. 80 B. 90

C. 70 D. 60

Q28. As of January 2020, who is the education minister of Haryana?

A. Sandeep Singh B. Kamlesh Dhanda

C. Ram Bilas Sharma D. Kanwar Pal
Q28. srertt 2020 =, wfeom 3 firem @i i §?

A. &7 &g B. S EIaT
C. TAfTema AT D. &ax rel

Q29. Which is the state bird of Haryana?

A. Black Francolin B. Red - wattled Lapwing
C. Grey Francolin D. Spotted Owlet
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Q29. = w1 T vl e @ 22
A. Sofdh WhiehlTelel B. 13 - adais offuer
C. 3 ShieiTaleT D. TWes 3ade

Q30. Kalesar National Park is situated in which district of Haryana?

A. Gurgaon B. Yamunanagar

C. Panchkula D. Rewari

Q30. iR T 3e s % R e 7 feuq 82

A. T[salig B. IHAIR

C. dasper D. Yarér

Q3L1. is situated in the Hisar district of Haryana.

A. Amusement Park B. Deer Park

C. National Park D. Children's Park
Q3L efon ¥ foam fordt i feera 3

A. THIGHT T B. el 3ear=t

C. TSE 36T D. fIegst urh

Q32. Which is the most common language of Haryana?

A. Punjabi B. Haryanvi
C. Urdu D. Sanskrit

Q32. gfmm st w=d w1 9 i 6 3?

A. GaITeT B. gRarordr
C.3§ D. "&hd
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Q33. started the magazine Sandesh in Hindi.

A. Bhai Santokh Singh B. Tulasi Ram Sharma

C. Deedar Singh D. Pt. Nekiram Sharma

Q33. = fedt afen ‘w3 J[EeTTa il

A. o8 g &g B. Jordly TH AT

C. der e D. 9 AR AT

Q34. was Haryana's first official state poet.

A. Dayachand Mayna B. Ayodhya Prasad Goyalea

C. Uday Bhanu Hans D. Surendra Sharma

Q34. SR o Uget ARG TS hid A

A. ggTde AG=T B. 3131edT ydTE, MMgferar

C. 357 7] &6 D. g¥g T

Q35. , the renamed poet used his sonorous songs to deliver the message of Vinoba
Bhave to the masses.

A. Bhai Parmanand B. Anupchand Aftab

C. Khushiram Sharma D. Tulasiram Sharma Dinesh

Q35. foreare hfar 31, fE fortam o1 3 G397 Bl SH-ST ek Ug= o foIq o1 mrege Mt ohr secret fofarm o

A. S IATG B. 3fe[ueic TocTe

C. geirm# oA D. JordRTA QT fewrer

Q36. Operating system enables people located at a different terminal to
use a single computer system at same time.

A. Real Time B. Batch

C. Multi -tasking D. Distributed
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Q36. TR firee sten-ater 2fifer wt o SuRTeRdTe 1 Uk € T § U € S w1 S
H T T ST 2

A. RIer ersA B. &9

C. Heer-erieehar D. f3fegsges

Q37. CPU chips are composed of functional section.

A. five B. three

C. seven D. four

Q37. CPU FRITeTe YT § ST BT B

A. 9 B. die

C. ard D. Ix

Q38. A module is a device that converts spoken words into information
that the computer can recognize and process.

A. Microphone B. Voice recognition

C. Optical Scanner D. Video Graphic adapter

Q38. IS Toh TET YR &, S et T Iroat bl et TR # qiafda st & fe et g
e ST TR § IR 38 e foRam S weha 21

A. FTSHIBIA B. arsq Repfearers

C. 3ifteaha ThaRx D. dif3ar anfhe wareex

Q39. In how many ways e-mail hacking can be done?

A. Five B. Six
C. Three D. Four

Q39. $-dr 2k fray Tt T Y T TRt 2?

A. g B. B8
C. diet D. IR
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Q40. Complete the series:

082,940,900, 826
A. 842 B. 852
C. 862 D. 872
Q40. sraer 1 i e

082,940,900, 826
A. 842 B. 852
C. 862 D. 872

Q41. If TABLE'is coded as 'SZAKD' then how is 'LIZARD' coded?

A. KHYQZC B. KHYZQC
C. KJABSE D. KHYZCQ

Q41. =fs ' TABLE' %1 'SZAKD' % ®u # wie far mn 2, @t 'LIZARD' &1 % #hie fehar smm?

A. KHYQZC B. KHYZQC
C. KJABSE D. KHYZCQ

Q42. Choose the number, which is different from others in the group.

A. 51 B. 97
C.91 D. 77

Q42. 30 HEAT 1 FATE HL 1 TE | qE west ¥ i R
A. 51 B. 97
c.91 D. 77

Q43. Complete the analogy:
ACMO : FHRT :: GIOQ : ?

A. VNLT B. LNVT
C. VLNT D. LNTV
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Q43. argra =t ot AR
ACMO : FHRT :: GIOQ : ?

A. VNLT B. LNVT
C. VLNT D. LNTV

Q44. A mobile phone costs Rs.6500. It was sold for Rs.6370. Find the loss percent.

A. 3% B. 5%
C. 7% D. 2%

Q44. ws demset w1 i Fma 6500 w7 21 38 6370 wuu # = A T Afdwrd sa iR

A. 3% B. 5%
C. 7% D. 2%
Q45. Simplify:

120+ [30*{30-(15+3)}] ="
A. 780 B. 3750
C. 870 D. 3570
Q45. g i

120+[30*{30- (15+3)}] =7
A. 780 B. 3750
C. 870 D. 3570

Q46. Find the value of 35% of 240?

A. 96 B. 48
C.72 D. 84

Q46. 240 % 35% =1 T F1q FIRE?

A. 96 B. 48
C.72 D. 84
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QA47. If Shalini, Malini and Rohini divide Rs. 30,000 in the ratio of 1:2:3, then Rohini's share is

A. Rs.5000 B. Rs.10000
C. Rs.15000 D. Rs.20000

QA7 =fg sferdt, mferft siit Afeoft 7 30,000 wuw smyw & 1: 2: 3 % srura # siie, ot Afeft s fewen 2
A. 5000 F9T B. 10000 &9T

C. 15000 &4T D. 20000 ®9qT

Q48. A spherical mirror whose reflecting surface is curved inwards is called a

mirror.
A. convex B. Conflict
C. concave D. Plane
Q48. e et v el wraden Hae it 1 S S A & I ador st ST 21
A. 3aa B. 3r&eTd
C. 3add D. gAdd
Q49. The word 'atom' is derived from the Greek word which means indivisible.
A. Atomos B. Atmosphere
C. Autonomous D. Atomic
QA49. weary ‘3o itk w758 & o o & e waes AT 2
A. 3TN B. TeaAMEhI
C. Jicia e D. Teitds®

Q50. Night blindness is caused due to the deficiency of vitamin

A. A B.D
C.E D. K
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Q50. frerfim o et & Tetel Bt 3

A. A

C.E

Q51. In an Energy Meter the Driving System, , Registering System and

form the basic construction parts.

A. Moving System, Parallel System B. Series System, Braking System

C. Moving System, Braking System D. Magnetic Flux System, Shunt System

Q51. us wsft et #, gl fren, , Thoreefar faew afit , it fmfor st
EICEInR

A. #fder faees, gAY R B. ¥¥reT RAweH, Sfehr Reed

C. Afdr R, s A D. YT welery EeH, o fwen

Q52. Which energy meter system contains a rotating aluminium disc that is placed between the
air gaps of series and shunt magnets and mounted on a shaft?

A. Magnetic Flux B. Moving System

C. Registering System D. Driving System

Q52. fore Tt et firen # wa efé uearifrm fewh Bt & & sfaern iR vie Fe % ary sfawre & st @ ST @
3R T ITHE W =GHAT ST 872

A. Hafeeh wolerd B. #fder ReeH

C. YR Rwes D. grsfder Reew

Q53. In an Energy Meter, what happens when magnetic field interacts with eddy current?

A. A braking torque is produced which exerts force B. A torque is produced which exerts force and
and causes the load current flow through the causes the disc to stop rotating
current coil to stop the rotating disc

C. A braking torque is produced which exerts force D. A torque is produced which exerts force and
and causes the voltage coil to lag by 90° causes the disc to rotate
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Q53. ueh wslf wiiet #, STar <l & T e T ST ST § o 4T 2T 87

A. T ST Tleh 3cde BIcT &, S 5T o9l § 3R
AT BT F Vbt F AT, TTATT FISel & ATEIH T,
AN FIC & YaIg T FRUT gAdT g

C. U ST el 3ceet 81T §, S T Famar & 3R
ISt Hisel &1, 90° ¥ NS &Y &aT &

B. Ueh 2ish 3ol BIaT &, S g ofaTar &, 3T 3% &
A § el &

D. U& Tlh 3cTee BIdT &, ST ST ol § 3R 35 &
e T, HROT Felell o

Q54. In an Energy meter, how is the shunt electromagnet connected in driving System?

A. The shunt electromagnet's coil is connected
with the supply and carries current inversely
proportional to the resistance.

C. The shunt electromagnet's coil is connected
with the supply and carries current proportional to
the supply voltage

B. The shunt electromagnet's coil is connected
with the series magnet and carries current
proportional to the resistance

D. The shunt electromagnet's coil is connected
with the series magnet and carries current
inversely proportional to the supply voltage

Q54 uw wrsff et #, vie gomgiime grefm frew # & et & 27

A. 2T SAFCIHIAC FI Figel, AAOT & ATY ST §IHT &
3R @E e o ST &, S YREH & fAedid st
J

C. 2T SAFCIHTAC T Higel, AT & AT SIST &Il &
3R S FaaRd dleesT & 3MeuTicish, e @l o ST g

B. 2T SAIaCIATEC T Pigd, HT o & AL 3T gial
¢ 3R AT & quricr gl arel, e T o S

D. 2iT FFCIHIIC HI HISd, HTT T & AT ST BlclT
& 3R S faaRd deesr & faodia smegarfae gt arel,
I B o AT &

Q55. Choose the expression for Faraday's second Law of Electromagnetic Induction.
Note: = is the electromotive force, @ is the magnetic flux, N is the number of turns

A. £ = -NdD/dt
C. s =N2dDydt

B. = = NdD/dt
D. £ = -N(d D@/dt)2

Q55. &7 ¥ forer grarfvr Sror 3, et Fen 3 forw, srfirsafen
e 3 £ gerpmed ww 8, @ e vom 2, N ot o g &

A. g = -NdD/dt
C. s = N2dD@ydt

August 24, 2020

B. £ = NdD@/dt
D. g = -N(d D@/dt)2
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Q56. Which of the following transformers are called Ferroresonant transformer regulator?

A. Constant voltage transformer B. Variable voltage transformer

C. Auto transformer D. Distribution transformer
Q56. freferfan # & %17 & gt F1 SrEiee AT FET e ST 27

A, Fireeee Aot TR B. aRwaer aiedt ZRIPER

C. 3ifeT R D. feRoT R

Q57. To implement various cooling methods, the transformer type whose size is upto 25 kVA
size is selected. What type of Transformer is it?

A. Spiral core Transformer B. Oil immersed Transformer

C. Spiral Self-Cooled Transformer D. Dry Type Transformer

QS57. fafir sfaer fafert 1 o st 3 for et s e simer 25 KVA & 51 STTm 2] 78 o b a1
ZiawR 87

A. TATES HR SHBEFRT B. dr # 3aTT T ZEGHR
C. TS Heh-F3 AP D. 31§ 3T ZHHIR

Q58. In a Transformer, if the secondary voltage is greater than primary voltage, then what type
of transformer is this?

A. Transformer on DC Supply B. Step Down Transformer

C. Ideal Transformer D. Step Up Transformer

Q58. uw ziawnit i afs mreafi Aieest wufies dicest & 31fie 2 @t I8 7Fe TR 1 ZiawR 27

A. DC faaror ¥ 3menRa raheR B. T 313 TRAHIR
C. 3sf3ye TraweR D. YT 319 TG

Q59. If an electrical machine converts mechanical energy into electrical energy, it is called

A. Generator B. Transformer
C. DC Motor D. AC Motor
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Q59.qﬁ:@ﬁgﬁmﬁwﬁaﬁmﬁﬁﬁgﬁﬁﬁﬁwﬁaﬁﬁw%a}sﬁ el ST 2
A. SiTex B. TP
C. DC Hrex D. AC AleX

Q60. The synchronous speed in induction motor is given by .
Note: f = Supply frequency

P = Number of poles for which stator winding is wound

A. 120 P/f B. 120 f/P
C.120xfxP D.fx P /120
Q60. gearr et # fiishia whis EGUECSIGI

e ¢ T = foaf@ smafa

P = gyt o1 s R forg St arefén 1 aesivari e s

A. 120 P/f B. 120 f/P
C.120xfx P D.fx P /120

Q61. What is the number of parallel paths in wave windings in DC machines?

A. One B. Three
C. Two D. Five

Q61. DC nuxfit § 3 arfem § aumiaT geit S gea w1 27
A. THh B. el

C.ar D. Ui

Q62. Consider a scenario in a DC motor.
When a conductor of Length "L" is placed inside a magnetic field of strength "H", flux
density "B" and current "I" is flowing through the conductor, then what will be the
magnitude of force F acting on it?

A. F=(B/iL) cosf newtons B. F=BiL sinf newtons
C. F=B (-i) L sinf newtons D. F=BiL cosf newtons
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Q62. DC st # s uftgear W formm it

S U FHeae, et dang L ?, ueh geehi &, fmeht arena H" v w1 seea "B R, % siet wan mn @ si

e "|", shedet F AT W 9E T R, O 3 WA F ¥ Javewar s geft?
A. F=(B/iL) cosf newtons B. F=BiL sinf newtons
C. F=B (-i) L sinf newtons D. F=BiL cosf newtons
Q63. is an example of an active electronic component.
A. Resistor B. Transistor
C. Capacitor D. Inductor
Q63. U TR S e T2k T IaTel 2
A. IEX B. gifoieeX
C. FIffeX D. 55X

Q64. At what temperature and atmosphere, would a carbon composition resistor rod required to
be sintered during its preparation?

A. 2500 degree Celsius in Hydrogen B. 1400 degree Celsius in Hydrogen
C. 1400 degree Fahrenheit in Neon D. 2500 degree Fahrenheit in Neon

Q64. frg qromT o7t STATERET § U HTE FHENSIYH STaEE S FT ThH AN % S ST [ Y SATFwIHar arfi?

A. g3l # 2500 33 afcaaw B. gssell # 1400 f33f afcazg
C. Fiaa # 1400 23 vReTgEe D. et & 2500 f33ft wRAgSE

Q65. When the resistance color code is read from right to left on a 4 band resistor, the
band gives the tolerance value of the resistor.

A. third B. second
C. first D. fourth
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QB65. st Wieredw e g w1 4 e Wieet 1T, 26 & o1 vgr S € ar e tfreet 1 wfewT AT 3

A. e B. g@r

C.9uH D. dtar

Q66. can be used to output a resistance which would be a function of the voltage applied
to it.

A. Passive resistors B. Capacitors

C. Trimmer D. Potentiometers

Q66. T ITANT, Tk NS T 3TM3ee i % o AT ST weha 2, ST 36 W TR Siees 1 U HE @l

A. RATSHT gfatys B. Fufcd

C. femx D. qréfRmeHex

Q67. On the basis of energy band theory, semiconductors have an almost [1] valence
band and an almost [2] conduction band and [3] forbidden energy gap

A. [1]full, [2] empty,[3]narrow B. [1]empty, [2]full,[3]big

C. [1]full,[2]full,[3]no D. [1]empty,[2]empty,[3]narrow

Q67. ot e fagia & amum w, defisreded & oo w [1]3ctw S it ok T [2] Fewm e 3ik
__[3] Fitg ==t siem |

A. [1] 9ot, [2] @relr, [ 3wl B. [1] @rel, [2] 90T,[3] &8

C. [1] qOT,[2] qoF,[3] =¥ D. [1] @rel, [2] @relt, [ 3]HehroT

Q68. Which of the following factors can be used to vary the conduction property of an intrinsic
semiconductor?

A. Shape B. Temperature
C. Size D. Color

QG68. f=fafad wrat § & RroewT ST Tk STl TeTeT i =T SR 1 {5 0 3 fTT R ST o 27

A. TR B. dMqATT
C. arsat D. T
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Q69. Which of the following components is used to create an N-type semiconductor?
a.Trivalent impurity
b.Pentavalent impurity
c.Intrinsic semiconductor

d.Extrinsic semiconductor

A.aandc B. bandd
C.bandc D.aandd
Q69. N-w&r ¥ fisheaer s % for, freaferfiaa & & e ree w1 SwainT, i smar 22
ERERRISEAC RG]
b Tererie sRTEaT
C.3f~ e avisheset
d. v o avisheset
A.a3Rc B. b 3R d
C.b3iRc D. a 3R d

Q70. Which of the following options indicate an advantage of using ICs?

A. Low power dissipation B. Ease in intervention of inductors

C. Unlimited value of capacitors at high voltage D. Low power consumption

Q70. f=fefaa & & @1 ferew |CS T ITINT T T Toh HRIET T 87

A. & ool sfadeeT B. $hsdcd & §EdaIT & =
C. 3% dlecsl W HUTAT 1 AT Hod D. & fasrel s @da
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Q71. The code denotes a linear IC.
A. LH B. LS
C.CD D. L5

Q71. % o e 1C w1 awtar &

A. LH B. LS
C.CDh D. L5

Q72. An MSI chip contains components embedded on it.

A. lesser than 10 B. greater than 10 and less than 100
C. lesser than 1000 and greater than 100 D. greater than 10000

Q72. v MSI g w TS T2 B 2

A. 10 @ &HA B. 10 & 31ftreh 3K 100 & A

C. 1000 & & 3iX 100 & 31f D. 10000 & e

Q73. The instruments that record the readings of the quantity being measured on a graph sheet

arecalled __ instruments.
A. Indicating B. Integrating
C. Recording D. Graphing
Q73. 3 gueror, Sit ek 7 fte WX et < T A o e o fe A ¥, 5 Segiem ot S 2
A. gfERfar B. gcafdar
C. Reifdar D. ZImfther
Q74. __ torque is applied to an indicating instrument to move the pointer in it.
A. Controlling B. Damping
C. Fluid friction D. Deflecting
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Q74. ek 1, gorh 1 gei THiaRd s o fofu, Toh Heohd SYoRUT OT SITET ST 3|
A. Ferfeiar B. STHMT
C. Fo[gs fherere D. fewrelferear

Q75. A measuring instrument that uses gravity control for applying the controlling torque can

only be used in position.

A. vertical B. horizontal

C. slanting, upto 120 degrees D. slanting, upto 45 degrees

Q75. e w1q ST SueHtT, St forA0T Steh @ o AU, TecaTaR T foRET Sh ST T B, Shaet feorfer & su=mT
[ERIS I CT

A. @31 B. &ifasr

C. faRoT, 120 B g% D. faer, 45 S a=

Q76. What is the unit of illumination?

A. Candela B. Lumen
C. Lux D. Flux
Q76. rerit = T T 27

A. Fger B. o#eT

9

C. o8 D. FeleFd

Q77. The flux contained per unit solid angle of a source of 1 candela is called

A. Lumen B. Luminous flux

C. Luminous Intensity D. Intensity flux

Q77. 1 %3 % & % fd, sobté 31 17 7 Fafed oo Y T ST 2

A. AT B. JfAd Fored

C. i gefadr D. A worerd
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Q78. The illumination at a point on any surface is to the square of the distance
between the surface and the light source.

A. directly proportional B. inversely proportional

C. independent D. equivalent

Q78. fareht +ft e w, w foig T e, Faw ST e B b o A g F H

A. Y sreaTfde B. Al smegarfdes

C. Tadd D. SRR

Q79. On what principle do fuses work?

A. Heating effect of resistance B. Heating effect of voltage

C. Heating effect of electrodes D. Heating effect of current
Q79. forwr fergia T WSt e B 87
A. UTaRYET &7 aTg g B. dlecsT T AT Ta

C. SIgI3 FI AT THT D. T T dIT TG

Q80. Which fuses are larger in size?

A. DC fuses B. AC fuses
C. Striker type fuses D. Cartridge type fuses

Q80. =i & w1k H 51 B &7
A. DC Fet B. AC W&

C. TS TBT & Fol D. HRIH TR & T

Q81. Which of the following is a high voltage fuse?

A. Cartridge type HRC fuses B. Striker type fuses
C. Rewireable fuses D. Drop out type fuses
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Q8L frmiferfae & & = T oo dieest WSt 27
A. HRH TR & HRC FIal B. TEISe 39 & Wel

C. Jarael wgat D. 319 313 WY

Q82. Buchholz relay is a protection relay used in oil immersed transformers. Under what
conditions does Buchholz Relay will NOT operate?

A. Gas bubbles are formed inside the transformer B. Level of transformer oil falls that leads to no

due to faults movement of baffle plate

C. Transformer oil flows rapidly from conservation D. Level of transformer oil falls that leads to

tank to the main movement of baffle plate

Q82. Buchholz fret wer e feet 2, foraeht 3w, &at # g1 U grawimt & fokam stwar &1 Buchholz feet o aftfeorfet

H T & Hom?

A. QY & HROT TEBER & 37e] I Forgel o7 & B. TAWIER & Jof T TR FRAT § T8 9%l Toic &l
NS Fawe 7ET giaT B

C. SEHIFR T Aol TETOT & { 7T e cloll ¥ el ¢|  D. THBIR Aol HT Fo} FRAT & TG0 ahel Tole a1
GaeleT g g

Q83. What leads to fracture of electrical wire stand ?

A. Excessive crimp B. Inadequate support for wire

C. Inadequate Tightening of threaded fasteners D. Shrinkage of board
Q83. =, farsteft % qR Tg % Sherart il HRT SaT 27

A. 3t Uoe B. aR & forw srodieq axde
C. U383 BIECAU &I AT FHHaAT D. &S &1 Hepraet

Q84. Which one of the windings does NOT belong to concentric windings of transformer?

A. Cross-over B. Sandwich
C. Helical D. Disc
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Q84. = @1 aefen, Ziawnit 1 MeT THTEET ¥, wsiftrd T 27
A. I -3NR B. dsfaw
C. gfosa D. 3t

Q85. Which type of fire extinguishers are used to put out electrical fires from electrical
components or energized electrical equipment?

A. Class A B. Class B

C. Class C D. Class K

Q85. formr werT % Ik 251 ohi ST, forer Suehtuit = feroreft o SysRwTt @, farsteft 1 a1 it e % forg, o
AT 87

A. T A B. 9T B

C.3aC D. g K

Q86. What is the role of Class A extinguisher?

A. Used on ordinary combustibles such as wood B. Used on flammable liquids
and paper
C. Used on electrically energized fire D. Used on nonflammable metals

Q86. =it A wewfefiaem &t war wfirenr 87

A. oTha) 3T FIeTeT SO ATUROT ShiFdieesed U 39AET B, Saoteraiiel a¥el geraf o gaier fvar arar §
T ST &

C. Taegd Foil W SEIAT ohaT ST §

)

. IR-Saerereliel eT3it o 3T fohar ST &

Q87. Which statement is INCORRECT about water extinguishers?

A. Used for class A fires (Combustible metal) B. Should not be used for B and C fires
(Flammable liquids and gases)

C. Extinguishes the fire by taking heat element of D. Extinguishes the fire by taking oxygen element
fire triangle of the fire triangle
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Q87. urt & warwffiaer & =it # w9 &1 s~ T 872

A. T3 Teh 31T (Sg=teliel &) & forT gger B. & 3R & 31T (Saerareiiel aver uere 31T 4) & faw
STAATS G fohdT ST TATfgw
C. 3131 THeRYOT T AT TAcd oY 31T T FSATT & D. 31f3sT eI o7 JiTerelicter Ted oot 31197 T ST &

Q88. Which instrument is used for conducting tests after wire installation?

A. Screwdriver B. Test Light

C. Megger D. Pliers

Q88. ar zermuT % e weroT Y % foru e Sushtor skt ST feRam ST 87

A. THITER B. &¥c @lge
C. R D. carad

Q89. Which coloured wire is used for grounding connection?

A. Purple B. Red
C. Green D. Blue

Q89. rfem s & foru f3Fe 7 % qr &1 Iu=nT 3R TTar 27
A. 9udT B. dTel

C. &0 D. after

Q90. Which factor does NOT affect the type of wire that will be installed in any electrical

device?
A. Temperature B. Conductors size
C. Colour Code D. Whether above or below the ground

Q0. =t a1 whreer et oft ferggar Swereon  wontfire @19 TSt A 3 SR T T e AT 27

A. drgATT B. $hadel IHR
C. @ &3 D. =g STHA & FW IT A
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